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Listening Comprehension

Model 1

Section A

Directions: In this section you will hear 10 short conversations. At the end of each conversation, a
question will be asked about what was said. Each conversation and question will be spoken only
once. After each question there will be a pause. During the pause, you must read the four sug-
gested answers marked A}, B), C) and D), and decide which is the best answer. Then mark the cor-
responding letter on the Answer Sheet with a single fine through the centre.

Example: You will hear:
You will read: A) 2 hours.
B) 3 hours.
C) 4 hours.
D) 5 hours.

From the conversation we know that the two are talking about some work they wiil start at 9
o'clock in the morning and have to finish at 2 in the afternoon. Therefore, D) “56 hours” is the correct
answer.You should choose answer D on the Answer Sheet and mark it wuth a single line through the
centre.

Sample Answer [A] [B] [C] [D]

A) Route 8. \Bﬁoute 18. C) Route 10. D) Route 80.
N) At Four-thirty." B) At five-thirty. C) At {ive o’clock. D) At four o’clock.
3. A) She does not agree with the man.
BY She thinks that it is better to- wait.
C) She thinks that it is better to drive at night.
D) She does not think that the man made a wise decisign.
\B);;:) the movie

o

4. \&) To class.

C) To the library. D) To the doctor’s office.
5. A) That Mary is going to Hawaii. B) That Mary has traveled ali over the world.
Q) That Mary likes postcards. V D) That Mary is going on vacation.
6. A) Dancing. B) Sailing a boat. C),Playing cards. D) Cutting wood.
7. A) He won’t go swimming without a lifeguard. '{He lost his key in the swimming pool.
C) He can’t keep his room clean. D)He’s locked out of his room.
8. A) In a railroad station. B) In a bus terminal.
C) In a restaurant. ‘ ~Dj In a hotel room.
9. A) He used to have one like it. BrHe didn’t think it looked right.
Q)He would like to have one. D) He couldn’t ride it.
10. A) Bring her some water. B) Buy her some plants.
Q)Y Water her plants while she is away. - D) Water her plants while he is on vacation.
Section B

tions: In this section, you will hear 3 short passages. At the end of each passage, you will hear

1estions. Both *h~ passage and the questions will be spoken only once. After you hear one

you must . ¥ best answer from the four choices marked A), B), C) and D). Then
wespondi £ “e Answer Sheet with a single line through the centre.



Passage 1

11.
'12.

13.

Questions 11 to 14 are based on the passage you have just heard.

A) Boston. B) New York City. C) Baltimore. D) Washington.

A) It was completely unexpected. B) Several highways were closed.

C) Schools were closed. - —.DY There was a lot of snow.

A) Early January. B) Early February. L) Early March. D) Late December.

14. A)Nine deaths were attributed to the storm.

B) Weather forecasters all predicted a long winter.
C) The storm hit the Northeast during the night.
D) No more snow is anticipated from the storm.

Passage 11
Questions 15 to 17 are based on the passage you have just heard.
15. A) Playing a musical instrument. B) Recording orchestra music.
C) Using a recorder. D) 17th century music. _
16. A) Simple in operation. B) Easy to learn. C) Easy to remember. D) Easy to score.
17. A) Able to play from a rich store of musical literature.
B) Able to read music.
C) Able to use any recorder.
D) Able to record orchestra music.
Passage i
Questions 18 to 20 are based on the passage you have just heard.
18. A) Eighteen miles. B) 938 feet.
C) One mile. D) Between five and six miles.
19. A) Gold was discovered.
B) The Transcontinental Railroad was completed.
C) The Golden Bridge was constructed.
D) Telegraph communications were established with the East. .
20. A) Golden Gate. B) San Francisco de Asis Mission.
C) Military Post Seventy-six. ' D) Yerba Buena.
Model 2
Section A

Directions: In this section you will hear 10 short conversations. At the end of each conversation, a
question will be asked about what was said. Each conversation and question will be spoken only
once. After each question there will be a pause. During the pause, you must read the four sug-
gested answers marked A), B), C) and D), and decide which is the best answer. Then mark the cor-
responding letter on the Answer Sheet with a single line through the centre.

Example: You will hear:

You will read: A) 2 hours.

B!

B) 3 hours.
C) 4 hours.
D) 5 hours. ‘ rd
e
From the conversation we know that the two are talking about some work t .
o'clock in the morning and have to finish at 2 in the afternoon. Therefore, D) "Syy’ - %?

answer.You should choose answer D on the Answer Sheet and mark it with ~ <

-



centre.

A) He wants to eat immediately.

B) He wants to know when the game will be over.
C) He’s worried about what time it is.

D) He’s afraid he’s dying.

2. A) Indifferent. B) Worried.
3. A) Calm down a little.
C) Find a better doctor.
4. A) She suggests they check in the catalog.
C) She doesn’t know if there is such a subject.
5. A) He lent her an extra peh.
©C) He said he didn't have any extra ink.
6. A) Miss Brown does not know how to paint.
C) Miss Brown will teach English.
7. A) At a post office. B) At a bark.
8. A) Teacher-Student. B) Lawyer-Client.
9. A) Because they are alike.
C) Because the man’s briefcase is smaller.
10. A) Mr. Jacob’s.
C) Mr. Smith’s.
Section B

Sample Answer [A] [B] [C] [D]

C) Happy. D) Indignant.
B) Become a doctor.

D) Get medical advice.
B) She’s not sure where the catalog is.
D) She has found this subject in the catalog.
B) He offered her a pencil.
D) He was afraid of losing his pencil.
B) Miss Brown will teach art. ’
D) Miss Brown will not go to the high school.
C) At an airport. D) At a drugstore.
C) Husband-Wife. D) Doctor-Patient.

" B) Because the man’s briefcase has a lock.

D) Because she doesn’t have one.
B) To confirm her boss’s appointment.
D) Today at two o’clock.

Directions: In this section, you will hear 3 short passages. At the end of each passage, you will hear
some questions. Both the passage and the questions will be spoken only once. After you hear one
question. you must choose the best answer from the four choices marked A}, B), C) and D). Then
mark the corresponding letter on the Answer Sheet with a single line through the centre.

Passage 1
Questions 11 to 14 are based on the passage you have just heard.

C) Indian settlements. D) Wagon trains.
D) Their origin.
B) When escaping from enemies.

D) When pulling wagons.

D) Highway engineers.

D) A nutrition professor.

B) Soybeans have many uses.

D) Some people like soybeans.

D) Soy sauce.

D) Shakespeare.
B) Definitely pleased.

11. M Road construction.  B) Highway names.
12. A) Their smoothness.  B) Their composition.  C) Their width.
13. A) When searching for food and water.

C) When being hunted by Indians.
14. A) Railroad engineers. B) European settlers.  C) Indian hunters.
Passage [l

Questions 15 to 17 are based on the passage you have just heard.
15. A) Chinese language teacher. B) A farmer.

C) A manufacturer.
16. A) Soybeans are known in China.

C) Soybeans are easy to grow.
17. A) Soy flour. ‘B) Soybean leaves. C) Soybean oil.
Passage 1l

Questions 18 to 20 are based on the passage you have just heard.

\ Polanski. B) Chaucer. C) O’Neil.
™ty enthusiastic.

- g

. D) Thoroughly disgusted.



20. A) His brute strength.
C) His exciting prophecy.

B) His ability to draw sympathy.
D) His overriding ambition.

Model 3
Section A

Directions: In this section you will hear 10 short conversations. At the end of each conversation, a
question will be asked about what was said. Each conversation and question will be spoken only
once. After each question there will be a pause. During the pause, you must read the four sug-
gested answers marked A), B), C) and D), and decide which is the best answer. Then mark the cor-
responding letter on the Answer Sheet with a single line through the centre.

Exampte: You will hear:
You will read: A) 2 hours.
: B) 3 hours.
C) 4 hours.
D) 5 hours.

From the conversation we know that the two are talking about some work they will start at 9
o'clock in the morning and have to finish at 2 in the afternoon. Therefore, D) “5 hours” is the correct
answer. You should choose answer D on the Answer Sheet and mark it with a single line through the
centre. . :
Sample Answer [A] [B] [C] [B]

1. A) They got a divorce.
B) They broke their wedding engagement.
C) They are married but not living together.
D) Their children haven’t grown up yet.

2. A) They froze. _

C) Somebody trampled them.
3. A) They’re too expensive.

C) They’re too big.

B) Somebody cut them.
D) Bugs ate them.

B) They're too tight.
D) They’re too ugly.

4. A) Visiting a friend on his way to another destination.
B) Ran into a friend at the coffee shop.
C) Saw a friend unexpectedly at the supermarket.
D) Saw a friend at the art museum.

5. A) He’s very tired.

. C) His stomach hurts.

6. A) Kind and understanding.
C) Bossy and stubborn.

7. A) 1 month.

8. A) I don’t think so.
C) He believed in him.

9. A) Laziness.

10. A) Scientific method.
C) Modern solution.

B) His vocabulary is inadequate.

D) He has a sore throat.

B) Foolish and ugly.

D) Pleasant and humble.

C) 3 months. D) 4 months.

B) He is superstitious.

D) Sometimes he predicts right.

C) Car trouble. D) Heavy traffic.
B) Result of experiment.

D) New invention.

'B) 2 months.

B) Missed the bus.

Section B

Directions: In this section, you will hear 3 short passages.At the end of each passage, you will hear
some questions. Both the passage and the questions will be spoken orly once. After you hear ocne
question, you must choose the best answer from the four choices marked A), B), C) and D). Then
mark the corresponding letter on the Answer Sheet with a single line through the centre.

5



Passage 1
Questions 11 to 15 are based on the passage you have just heard.

11. A) Market hunting. B) Diseases brought by cattle and sheep.
C) Natural predators. D) Deterioration of grassland.

12. A) Ewes. B) Lambs. C) Bucks. D) Rams.

13. A) September. B) October.- C) November. D) December.

14. A) Andes Mountains, Peru. -
B) Rocky Mountains, The United States and Canada. ‘
C) Alps Mountains, Switzerland. ,
D) Atlas Mountains, Switzerland.

15. A) Cow. B) Pig. C) Sheep. D) Deer.
Passage 11
Questions 16 to 18 are based on the passage you have just heard.
16. A) The catbird builds its nest. B) The catbird sits on the cow.
C) The catbird has its own chicks. D) The catbird builds no nest.
17. A) In her nest. B) Beside a cow.
+ C) In the nests of other birds. D) Beside a tree.
18. A) With anger and jealousy. B) By ignoring young catbirds.
C) By starving catbirds. D) By treating them as their own.
Passage Il
Questions 19 to 20 are based on the passage you have just heard.
19. A) It cleaned. . B) It was made in the early 19th century.
C) It-was beautiful. D) It was original.
20. A) $ 60. B) $ 68. C) § 80. D) ¥ 100.
Model 4
Section A

Directions: in this section you will hear 10 short conversations. At the end of each conversation, a
question will be asked about what was said. Each conversation and question will be spoken only
once. After each question there will be a pause. During the pause, you must read the four sug-
gested answers marked A), B}, C) and D), and decide which is the best answer. Then mark the cor-
responding letter on the Answer Sheet with a single line through the centre.

Example: You will hear:
You will read: A) 2 hours.
B) 3 hours.
C) 4 hours.
D) 5 hours.

From the conversation we know that the two are talking about some work they will start at 9
o'clock in the morning and have to finish at 2 in the afternoon. Therefore, D) “5 hours” is the correct
answer. You should choose answerD on the Answer Sheet and mark it with a single line through the
centre.

Sampie Answer [A] {B] {C] [D]

1. A)$15. B) $ 30. C)$50. D) $ 100.
6
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A) Yes, he does. B) No, he isn’t.

C) Yes, he had.
C) Playing chess. .
B) Yes, he has.
D) George wanted to come.

Bj) It’s for men only.

D) Because she is not friendly with him.

D) No, he doesn’t
D) Playing tennis.

B) Painting their house.
D) Preparing dinner.

B) Watching a movie.

D) Listening to the radio.
B) She’s cold.

D) She feels hurt.

3. A) Playing poker. B) Playing mahjong.
4. A) George didn’t invite him. :
C) No, he hasn’t.
5. A) It’s only for close friends.
C) It’s a prearranged party.
6. A) They are too heavy and she can’t carry them.
B) They are too many and she can’t read them all.
C) They are too difficult and complex.
D) She feels too tired to read.
7. A) Eating dinner.
C) Performing medical surgery.
8. A) She thought they were expensive.
B) She thought other bookstores carried more of them.
C) She thought they were cheap.
D) She didn’t like the books.
9. A) Fixing their car.
C) Making a long distance phone call.
10. A) She’s irritated.
C) She has the measles.
Section B

Directions: In this section, you will hear 3 short passages.At the end-of each passage, you will hear
some questions. Both the passage and the questions will be spoken only once. After you hear one
question, you must choose the best answer from the four choices marked A), B), C) and D). Then
mark the corresponding letter on the Answer Sheet with a single line through the centre.

Passage 1
Questions 11 to 14 are based on the passage you have just heard.

A) To debate pholosophies of childrearing.

11.
B) To propose an educational award.
C) To analyze a writing system.
D) To discuss an individual’s achievements.
12. A) As intelligent. B) As typical. Q) As tall. D) As old.
13. A) Teach it to his daughter. B} Learn other languages.
C) Write in his native language. D) Become a Cherokee leader.
14. A) As a mixture of several languages. B) As a spoken language exclusively.
C) As an extremely difficult language to learn. D) As similar in structure to English.
Passage 11
Questions 15 to 17 are based on the passage you have just heard.
15. A) Character of graphite. B) Character of paint.
C) Character of pencil. D) Character of paper.
16. A) A shipping mineral. B) A lubricant. C) A form of carbon. D) Crystal.
17. A) Paper. B) Pencil lead. C) Paint. D) Mineral.
Passage 1l :
Questions 18 1o 20 are based on the passage you have just heard.
18. A) France. B) Russia. C) England.

19. A) The author’s ability to create real and living characters.

D) Europe.



B) The author’s criticism of European civilization.
C) The morality descriptions of the battlefield.
D) The moving descriptions of the battlefield coupled with a reassuring hope for peace.

20. A) Boris. , B) Tolstoy.

C) Anna Karenina. D) The lecture does not say.
Model 5
Section A

Directions: In this section you will hear 10 ghort conversations. At the end of each conversation, a
question will be asked about what was said. Each conversation and question will be spoken only.
once. After each question there will be a pause. During the pause, you must read the four sug-
gested answers marked A), B}, C) and D), and decide which is the best answer. Then mark the cor-
responding letter on the Answer Sheet with a single line through the centre.

Example: You will hear:
You will read: A) 2 hours.
B) 3 hours.
C) 4 hours.
D) 5 hours.

From the conversation we know that the two are talking about some work they will start at 9
o'clock in the morning and hav_e to finish at 2 in the afternoon. Therefore, D) “5 hours” is the correct
answer. You should choose answer D on the Answer Sheet and mark it with a single line through the
centre. Co

Sample Answer -[A] {B} [C] (D]

1. A) She made it herself. B) She had a tailor make it.

C) She bought it a long time ago. D) She had an old one re-made.
2. A) At the post office. B) At his home address.

C) At his mountain cabin. D) At his aunt’s address.

3. A) Not everyone from England likes to read all the time.
B) People who teach English like things besides books.
C) The English like to read a lot and listen to music.
D) English teachers usually like to read a lot.

4. A) That Liz doesn’t know them well. B) That he’s the one to phone Liz.

C) That she will phone Liz if he doesn’t. - D) That she doesn’t know Liz’s phone number.
5. 'A) She couldn’t make up her mind. B) She doesn’t have iime for a job.

C) She’d like to have a company of her own. D) She has a mind of her own.
6. A) At the restaurant. B) At the theater.

C) At the barber shop. D) At the reception room.
7. - A) New York. B) Chicago. . C) Washington. D) Philadelphia.
8. A) Handsome. B) Pretty. C) Good looking. D) Ugly.
9. A) Yes. B) No. C) Can’t tell. D) I don’t know.
10. A) He is afraid of Joe. B) He doesn’t like Joe.

C) It is an old coat. D) It belongs to Joe.
Section B

Directions: In this section, you will hear 3 short passages. At the end of each passage, you will hear
some questions. Both the passage and the questions will be spoken only once. After you hear one
question, you must choose the best answer from the four choices marked A), B), C) and D). Then
mark the corresponding letter on the Answer Sheet with-a single line through the centre.

8



Passage 1
Questions 11 to 14 are based on the passage you have just heard.

11. A) Sunny skies. : B) Cloudiness, but no rain.

C) Light showers. D) Thunderstorms.
12. A) 79 degrees F. B) 75 degrees F. C) 74 degrees F. D) 73 degrees F.
13. A) Very Good. B) Good. Q) Fair. D) Poor.
14. A) Rainy and mild. B) Rainy and cold. C) Sunny and mild. D) Cloudy and cold.
Passage 11

Questions 15 to 17 are based on the passage you have just heard.
15. A) In churchyards. B) All over the United States.

C) Only in cold climates. D) Only in the center of the country.
16. A) Some of the leaves look like flower petals B) They make very good windbreaks.

" C) The bark of the tree is white. . D) They bloom twice in the spring.

17. A) They insulate the flower buds. . | B) They have a religious significance.

C) They protect other leaves from the cold. D) They are the sign of a long spring.
Passage [l

Questions 18 to 20 are based on the passage you have just heard.
18. A) Dog flea. B) Cat flea. - C) Rat flea. D) Human flea.
19. A) It can jump for 4 days without stopping. B) It can fly for 3 days without stopping.

C) It can carry many diseases at once. D) It can jump 100 times its own length.
20. A) Run or hurry away. B) Show off camplacently.

C) A quick light blow. D) Fly in the air.
Model 6
Section A

Directions: In this section you will hear 10 short conversations. At the end of each conversation, a
question will be asked about what was said. Each conversation and question will be spoken only
once. After each question there will be a pause. During the pause, you must read the four sug-
gested answers marked A), B), C) and D), and decide which is the best answer. Then mark the cor-
responding letter on the Answer Sheet with a single line through the centre.

Example: You will hear:
You will read: A) 2 hours.
B) 3 hours.
C) 4 hours.
D) § hours.

From the conversation we know that the two are talking about some work they wiil start at 9
o'clock in the morning and have to finish at 2 in the afternoon. Therefore, D) “5 hours” is the correct
answer.You should choose answer D on the Answer Sheet and mark it with a single line through the
centre. )

Sample Answer [A] [B] [C] [D]

1. A)Ata drugstore. B) At a doctor’s office.

C) At a hospital. D) At a dentist’s office.
2. A) Bycar. B) By bus. ' C) Standing up. D) No, he doesn’t

9



3. A) Japanese. B) American.
4. A) Treasurer. B) Vice President.
5. A) In a shoe store.
C) In a'doctor’s office:
6. A) Yes, he will.
C) Yes, he did.
7. A) Restaurant, B) Hotel.
8. A) A room.
C) To rent an apartment.
9. A) Emergency. B) Important.
10. A) She wants to know where the washroom is.
C) She wants to find the powder for her nose.
Section B
Directions:

C) Chinese.
C) President.
B) In a drugstore.

D) English.
D) Secretary.

‘D) In a bakery.

B) No, he won’t.

D) No, I don’t think so.

C) Department store. D) Cleaners.

P) To see a house.

D) To see the floor. .

C) Secret. D) Long distance.
B) She wants to powder her nose.

D) She wants to make a call.

In this section, you will hear 3 short passages.At the end of each passage, you will hear

some questions. Both the passage and the questions will be spoken only once. After you hear one
question, you must choose the best answer from the four choices marked A), B), C) and D). Then
mark the corresponding letter on the Answer Sheet with a single line through the centre.

Passage |
Questions 11 to 14 are based on the passage you have just heard.

12.

- A) It is impossible to eat too many sweets.

B) Too many sweets may make skin problems worse.

C) More sweets may make skin problems better.
D) Sweets will not make a person fat.

A) At noon. B) In the evening.
C) When the stomach is already full. D) When the stomach is empty.
13. A) Don't eat between meals. B) Brush your teeth after eating.
C) Too much candy is not good for you. D) Never take candy from strangers.
14. A) Meat, potatoes, and fresh fruit. B) Potatoes, brown rice, and fresh fruit.
* C) Fresh fruit, vegetables, and cheese. D) Vegetables, brown rice, and potatoes.
Passage I ‘
Questions 15 to 18 are based on the passage you have just heard.
15. A) The regional level. B) The national level.
C) The grand prize. D) None of these.
16. A) Invented a new toothpaste. B) Smiled better than the other contestants.
C) Became a TV star. D) Became an employee of the company.
17. A) On the radio. B) On television.
C) In Time magazine. D) In a newspaper.
18. A) 10. B) 15. O 11. D) 12.
Passage [l :
Questions 19 to 20 are based on the passage you have just heard.
19. A) All day. B) At nine o’clock.
C) At six o’clock. D) At noon.
20. A) $ 60. B) § 80. C) § 120. D) $ 150.

10
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Model 7

Section A

Directions: In this section you will hear 10 short conversations. At the end of each conversation, a
guestion will be asked about what was said. Each conversation and question will be spoken only
once. After each question there will be.a pause. During the pause, you must read the four sug-
gested answers marked A), B}, C) and D), and decide which is the best answer. Then mark the cor-
responding letter on the Answer Sheet with a single line through the centre.

Example: You will hear:
You will read: A) 2 hours.
B) 3 hours.
C) 4 hours.
D) 5 hours. .

 From the conversation we know that the two are talking about some work they will start at 9
o'clock in the morning and have to finish at 2 in the afternoon. Therefore, D) “5 hours” is the correct
answer. You should choose answer D on the Answer Sheet and mark it with a single line through the
centre.

Sample Answer [A] [B] [C] [D]

1. A) At his office. B) At lunch.
- C) At the travel agency. D) At the bakery.
2. A) Student-Teacher. ’ B) Waitress-Customer.
C) Client-Lawyer. D) Patient-Doctor.
3. A) Something cold. B) Coffee.
C) Tea. D) Both coffee and tea.
4. A) One day. B) None. '
C) Three women. D) Three women and one baby.
5. A) Yes, it is too far to walk. B) No, it is within walking distance.
C) No, but it is too far to walk. D) Yes, you must take a bus or a taxi.
6. A) Quite a few years. B) Two months.
C) Three months. D) Four months.
7. A} Vacation. B) Pleasure of travelling.
C) Language study. D) Foreign countries.
8. A} January. B) June. C) December. D) November.
9. A) Lonely. B) Sad. C) Tired. D) Young.
10. A) On an airplane. B) On a wagon. C) On a bus. D) On a train.
Section B

Directions: in this section, you will hear 3 short passages.At the end of each passage, you will hear
some questions. Both the passage and the questions will be spoken only once. After you hear one
question, you must choose the best answer from the four choices marked A), B), C) and D). Then
mark the corresponding letter on the Answer Sheet with a single tine through the centre.

Passage 1
Questions 11 to 15 are based on the passage you have just heard.
11. A) The speaker’s friend uses drugs. B) The life of Sherlock Holmes.
C) A book of Sherlock Holmes. D) A book about Dr. Watson.
i2. A) Holmes himself. B) Dr. Watson.

11
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C) Sigmund Freud. ‘ D) The author.
13. A) The book is probably a forgery.

B) The book is definitely not a forgery.

C) The appearance of Moriarity, Holmes’s arch-rival.

D) Sherlock Holmes has a drug habit.

14. A) Mystery. B) Adventure.
C) Romance. D) Psychologist.

15. A) The United States. B) Europe and the U.S.
C) Europe. D) England.

Passage I

Questions 16 to 18 are based on the passage you have just heard.

16. A) Five o’clock. B) Seven-thirty. C) Ten o’clock. D) Eleven o’clock.
17. A) § 1.25. B) § 1.50. C) § 2.00. D) § 2.50.
18. A) At two o’clock. B) At two-thirty. C) At five o’clock. D) At six o’clock.
Passage [l
Questions 19 to 20 are based on the passage you have just heard.
19. A) In the Atlantic. B) Six miles from Hawaii.
C) 145 miles from Hawaii. D) On an aircraft carrier.
20. A) For two days. B) For three days.
C) For twelve days. D) For fifteen days.
Model 8
Section A

Directions: In this section you will hear 10 short conversations. At the end of each conversation, a
question will be asked about what was said. Each conversation and question will be spoken only
once. After each question there will be a pause. During the pause, you must read the four sug-
gested answers marked A), B), C} and D), and decide which is the best answer. Then mark-the cor-
responding letter on the Answer Sheet with a single line through the centre.

Example: You will hear:
You will read: A) 2 hours.
B) 3 hours.
C) 4 hours.
D) 5 hours.

From the conversation we know that the two are talking about some work they will start at 9
o'clock in the morning and have to finish at 2 in the afternoon. Therefore, D) “5 hours” is the correct
answer. You should choose answer D on the Answer Sheet and mark it with a single line through the
centre.

Sample Answer [A] {B] [C] D}

1. A) Ask for his picture. B) Tell him a story.
C) See his smile. D) Take his picture.

2. A) The department store may sell tires. B) To get them in the department store.
C) The department store carries tapes. D) The department store sells tires.

3. A) In the classroom. B) In the language lab.
C) In the library. D) In the telephone booth.

4. A) Lost her job. B) Busy with her children.

12
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C) Busy with her new job. D) Her husband won’t let her.
5. A) He speaks too fast. B) He speaks too slow. -
C) He doesn’t come to the point. D) His speech is not clear.
6. A) Drugs. B) Make-up. C) Clothing. D) Perfume.

7.  A) It is too crowded and he can’t breathe very well.
B) The next stop is the last stop.
C) The next stop is their stop.
D) A lot of people get off at the next stop.

8. A) To enter the man’s apartment. B) The man forgot it.

' C) The man forgot where he did it. D) The man lost it.

9. A) Reading. B) Smoking. C) Sweeping. D) Studying.

10. A) By bus. B) On a train. C) Driving. D) Taking a taxi.
Section B

Directions: In this section, you will hear 3 short passages.At the end of each passage, you will hear
some questions. Both the passage and the questions will be spoken only once. After you hear one
question, you must choose the best answer from the four choices marked A), B), C) and D). Then
mark the corresponding letter on the Answer Sheet with a single line through the centre.
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Passage 1
Questions 11 to 14 are based on the passage you have just heard.
11. A) Geology. . B) Geopolitics. C) Oceanography. D) Cartograply.
12. A) Sedimentary rock atrophy.
B) The sliding of the plates of the earth’s crust.
C) Shaking of the earth in rotation.
D) Syroscopic telepathy.
13. A) The surface of the earth is moving.
B) The danger of earthquakes is increasing.
C) The oceans will one day cover the continents.
D) The Sahara desert was once under the South Pole.
14. A) Result. B) Support or approval. ,
C) Higher parts of a region or country. D) Great and sudden change.
Passage 1l
Questions 15 to 17 are based on the passage you have just heard.
15. A) Detroit Metro Airport. B) Toledo Express Airport.
C) Columbus International Airport. : D) Chicago O’Hare Airport.
16. A) They should go to the Greater Cincinnati Airport.
B) They should call the airport to be certain that their flight is scheduled to depart.
C) They should cancel their travel plans.
D) They should stay tuned to their radios.
17. A) Severe wind. B) Heavy fog. _ C) Thunderstorms. D) Snowstorms.
Passage [l .
Questions 18 to 20 are based on the passage you have just heard.
18. A) Laboratory methods in psychology. B) How to make psychology respectable.
C) A critique of behaviorist psychology. D) Recent advances in theoretical psychology.
19. A) Use experimental data only. B) Ask people’s opinions on various matters.

20.

C) Use statistical data based on scientific models. D) Observe people in real-life situations.
A) Further criticisms of behaviorist psychology.
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B) Criticism of other theories of psychology.
C) Methods of studying human behavior in natural settings.
D) New designs in equipment for psychology laboratories.

Model 9
Section A

Directions: In this section you will hear 10 short conversations. At the end of each conversation, a
question will be asked about what was said. Each conversation and question will be spoken only
once. After each question there will be a pause. During the pause, you must read the four sug-
gested answers marked A), B), C) and D), and decide which is the best answer. Then mark the cor-
responding letter on the Answer Sheet with a single line through the centre.

Example: You will hear:
You will read: A) 2 hours.
B) 3 hours.
C) 4 hours,
D) 5 hours.

From the conversation we know that the two are talking about some work they will start at 9
o'clock in the morning and have to finish at 2 in the afternoon. Therefore, D) “5 hours” is the correct
answer.You should choose answer D on the Answer Sheet and mark it with a single line through the
centre.

Sample Answer [A] [B] [C] [B]

1. A) Bring some food to the table. B) Help herself to some food.
C) Use the phone on the table. D) Help herself to the table.
2. A) The man. B) The woman.
C) A friend. D) A secretary.
3. A) Take a different train. B) Go shopping at the new store.
C) Find a new repair shop. D) Buy a different car.
4. A) Join her friend. B) Stay inside.
C) Sketch the tree. D) Look for a job.
5. A) He was very brave. B) He’s a guide in the forest.
C) He heated the meat. D) He’s quite proud of his medal.
6. A) Buy some paper. B) Do some typing.
C) Change the typewriter. D) Ask the woman to type.
7. A) He must study in order to pass. B) He won’t pass unless he takes tne test.
C) He must take the test. . D) He may skip the test.
8. A) Everyone ate his fish. B) It was enough for himself.
C) No one ate his fish. D) It was almost enough for all of us.
9. A) She can stay a little longer. B) She must go home now.
C) Her parents never worry about her. D) Her parents are too nervous.
10. A) She doesn’t know him. B) She knows him quite well.
C) She knows something about him. D) She knows nothing about him.
Section B

Directions: In this section, you will hear 3 short passages.At the end of each passage, you will hear
some questions. Both the passage and the questions will be spoken only once. After you hear one
question, you must choose the best answer from the four choices marked A), B), C) and D). Then
mark the corresponding letter on the Answer Sheet with a single line through the centre.
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